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Evaluate the indefinite integral. (Use C for the constant of integration.)
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Get a pen tablet suitable for taking notes v

and doing math.

""Remarkable" is pretty awesome, but around $300.
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Evaluate the indefinite integral. (Use C for the constant of integration.)
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Evaluate the indefinite integral. (Use C for the constant of integration.)

8/d e
[X(4X+5}8dx = S-r u (:“) - ‘Tingdv

7

uz dxas ——=7 o Zide —2 % = e <— ,{.{
=\ J)‘
- c‘_": L\ u=s ueJH
rl\‘ = ¢ - ¢ -

= = gueéu—f) du

"

\‘10 g_ (’
- L ng‘zf\«")cJu < {Tb ';- - —:T K "’(1
(1 %)
Ly e)’- §ut 1€

Evaluate the indefinite integral. (Use C for the constant of integration.)

)}

X3\» ¥2 440 dx = 3\[—'
w= ¥EW g * (o du
du=1x d¥ =
J. w= ,"4—‘40
°1 a¥ 1__ u_“tb

yy
- %‘S(u-‘“’)u Jl”-t"f-

November 09, 2023



231109.notebook November 09, 2023

Evaluate the definite integral.
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This is a (the) other way to handle the limits of integration in a u-substitution
exercise.
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